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201 2Bt 19,930 22, 144 ~2,214
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e E TP 69,694 74,704 £4,810
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e AL 2el X 1,350 1,500 A150
201 et FH| 1,350 1,500 A150
02 =224l 1,350 1,500 A 150
OFRY AL22I SXB4H|
A#H 1,350,0002! 1,350 1,500 A150
HeH e A F bl 306,830 306,830 0
HeHH LA TSR 306,830 306,830 0
e E P 302, 160 302, 160 0
401 AIEHIL 2 THHI 302, 160 302, 160 0
01 Al& bl 300,000 300,000 0




M AANH

M A A
Gel: HeHHARD =AY (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
o212l S 42 & X2 AHL=100m)
23 16,410,000 16,410 30,000 A 13,590
08222 AIE RHEH ZAHL=100m)
2 25,350,000 25,350 30,000 A4,650
OFH1i2| ZH0IS L2 EXIZ A A A H(
L=300m) 23 11,400,000 11,400 20,000 A 8,600
OFZi2l 0t20t2 A2 AHL=150m)
23X 22,520,000 22,520 25,000 A2,480
OFHi2l s2Z & ZAHL=100m)
20,000,000 * 14l 20,000 0 20,000
o242l A48y 5 s2ZF(L=70m)
3F o 0 20,000 A20,000
o=241el Lo E HHIZA a3 0% 0 5,000 25,000
o212l HoAA HHIZA
10,000, 000! * 1Al 10,000 0 10,000
O242e 294 082 ZTHIAF A 1A (
L=100m) 23X 17,820,000 17,820 15,000 2,820
o222l s 42 & X2 A (L=100m)
ZA 12,980,000 12,980 15,000 22,020
Oo=2<el 42 A2 AHL=100m)
20,000,000 » 14l 20,000 0 20,000
O=2:32l 02k 22 & X2 AH(L=100m)
ZH 17,860,000 17,860 20,000 22,140
o242l 02 MYEZ A8 HAZAH(L=15m)
ZA 10,420,000 10,420 5,000 5,420
o242l W22 A HI2AH(L=50m)
10,000, 000! * 1Al 10,000 0 10,000
OSH2el 2E 2HEHIZAHL=100m)
ZA 19,400,000 19,400 35,000 A 15,600
O=23H 22 ?HEHIZAHL=100m)
20,000,000 » 14l 20,000 0 20,000
O2H32l TS0 FHEHIZAHL=50m)
3F o 0 20,000 A20,000
OFcHi2l A2 Hi=2 & X2 AHL=100m)
FH 27,380,000 27,380 30,000 A2,620
OFcHoe] SU2 D82 2 X2 AHL=
100m) AE 21,400,000 21,400 30,000 28,600
o2y 32| 42 FHIZ A 2 3JHA (L=50m)
10,000, 0002 * 14! 10,000 0 10,000
O24 42] 22 FHIZ A @ 3JHA (L=50m)
7,060,000% x 14l 7,060 0 7,060
e HE2HFH 50,409 51,945 A 1,536
HeHs o =2A | 17,352 18,888 A 1,536
FHeHso 2R 17,352 18,888 A 1,536
201 LEr2 9] 6,092 6,768 NB76
01 A2 22| H| 6,092 6,768 NB76
ORN2I 2| 3 4,126,000 4,126 4,584 A 458




SA: AN
M Y0 #™2 A

S o

selr AHHII=Z (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
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